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ALGEBRA WITH PiZZAZZ!

OBJECTIVE 4-b: To solve word problems involving investments.



What Did Finnegan Dislike About the
Candle-Making Business ? ®

Solve each problem below. Assume that all interest rates indicate annual simple interest.
Find your solution in the answer column and notice the three letters next to it. Write these
letters in the three boxes that contain the number of that exercise.

l

(1) Solve: 0.05(x +900) = 0.08x
. K4
@ Solve: 0.065(x — 2000) = 0.04x + 70

Sam Quirk invested $7000, part at 7% and
the rest at 11%. If his total return for one
year was $690, how much was invested at
each rate?

$7200

$9500; $12,500
$2000; $5000
BRA) $750; $950

06e

at 7%; at 11%

QJD 1500
@ An investment fund has $3000 more -
invested at 8% than it does at 10%. If the @ $6000
annual return from the 8% investment is
the same as the annual return from the @ $720; $520
10% investment, how much is invested at $2400: $4000
each rate? ’
at 10%: at 8% 8000
@ Ms. Smyle has $200 less invested at 9% 4200
than she does at 6%—%. If the annual return $2100; $3700
from the two investments is the same, how @ $12,000; $15,000

much is invested at each rate?

¢

1 $2500; $4500
at 6§ Yo at 9%

@ Sally Snuggle has $1600 more invested at 5% than she does at 8%. The
annual return from the 5% investment is $17 more than the annual return from
the 8% investment. How much is invested at each rate?

at 8%; at 5%

Merlin invested half of his money at 12%, one fourth at 8%, and the rest at 6%.
If the total annual income is $570, how much was invested altogether?
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ALGEBRA WITH PIZZAZZ! OBJECTIVE 4—c: To solve word problems involving
140 © Creative Publications investments (more challenging problems).



